
      Answers for Review for Exam Two for Math 1523 

5.1   1)  a)  cot x       b)  sin x      c)  sec 2 x      e)  29      f)  1 

             2)   a)  False         b)  False         
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5.5     1)   a)  
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               2)  18.4 , 71.6 , 198.4 , 341.6 ( degrees )  or  0.32 , 2.82 , 3.46 , 5.96 ( radians ) 

               3)    
   

 
  + 2 π n  ;   

    

 
  + 2 π n   

 

6.1     1)   a)  41.5     b)  48.5     c)  26.5      d)  26.6      e)  No answer     f)  38.4 

               2)   a)  752.2       b)  200.4      c)  233.5 

 

6.2     1)   a)  13.4      b)  37.7      c)  90       d)  No Answer      e)  128 

               2)   a)  160.6         b)  38.5             3)  4919 


